

$$Y = \sin^2(6\pi t + 1) = f(g(u(t)))$$

$$f(t) = t^2, \quad g(t) = \sin t, \quad u(t) = 6\pi t + 1 \rightarrow u$$

$$\frac{dY}{dt} = \frac{d}{dt} (f(g(u(t))))$$

$$W = g(u(t)) = \sin(6\pi t + 1) \quad f(W) = W^2$$

$$\frac{d}{dt} f(g(u(t))) = \frac{d}{dt} (f(W)) = \frac{dW}{dt} \cdot \frac{d}{dW} (f(W)) = \frac{dW}{dt} \cdot \frac{d}{dW} (W)^2$$

$$= \frac{dW}{dt} \cdot (2W) = \frac{dW}{dt} \cdot (2 \sin(6\pi t + 1))$$

$$W = g(u(t)) = g(u) = \sin(u) = W(u)$$

$$\frac{dW}{dt} = \frac{du}{dt} \cdot \frac{d}{du} (W(u)) = \frac{du}{dt} \cdot \frac{d}{du} (\sin(u)) = \frac{du}{dt} \cdot \cos(u)$$

$$= \frac{du}{dt} \cdot \cos(6\pi t + 1)$$

$$\frac{du}{dt} = \frac{d}{dt} (6\pi t + 1) = \frac{d}{dt} (6\pi t) + \frac{d}{dt} (1) = 6\pi \frac{dt}{dt} + 0$$

$$= 6\pi \cdot 1 + 0 = 6\pi$$

$$\frac{dW}{dt} = 6\pi \cdot \cos(6\pi t + 1)$$

$$\frac{dY}{dt} = (6\pi \cos(6\pi t + 1)) \cdot (2 \sin(6\pi t + 1))$$

$$= 12\pi \sin(6\pi t + 1) \cos(6\pi t + 1)$$